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Analysis-93 << 4|
U.G. 4th Semester Examination - 2021 ¢)  What do you mean by power of test?

ECONOMICS Power of Test J108 I (AR 2
[HONOURS]
Course Code : ECO-H-CC-T-10
(Introductory Econometrics)

f)  How does an econometric model differ from

a mathematical model?

Full Marks : 30 Time : 14 Hours Econometric S1&s @} sNfafes q0etra s
The figures in the right-hand margin indicate marks. Al 12
Candidates are required to give their answers in g)  What are the different types of data?
their own words as far as practicable. fafon 49 Data-93 IS @14 |

h)  Show that TSS=ESS+ RSS in a two variables

1.  Answer any five questions: 2x5=10 )
regression model.

@-FIe AofH v Teg wie ¢
wib SeifFe fHa=e e e mele @

a)  Inusual term if b, _=-1.8 and b, = —0.2 find TSS=ESS+RSS |

By 2.  Answer any two questions: 5x2=10

A epfere Afrera ozl b= —1.8 4= @G 5% 20gA Bea e ¢
b, = 0.2 %7 O r, =7

b)  State the Central Limit Theorem.

a) Formulate a two variable regression model
without intercept term. How would you
‘oo G Soeiw s fige 4| estimate the slope coefficient of such model?
2+3=5

Q3B 12 GRS eI SIweT 5[6w 32 TS (I

(=7 (intercept) (12 | €3 4AEE ST 16 FreIE
d) Distinguish between correlation analysis and 23114 (estimate) 1 T 2

c) What do you mean by reverse regression?

fRoIFe fFrax= To7ce I @Rt?

regression analysis.
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b)

d)
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What do you mean by null hypothesis? What
is the difference between one tailed and two
tailed tests of hypothesis? When would you
prefer the former? Explain with help of an

example. 1+2+2=5

I 2R F9ce F @RI? One tailed @3%
two tailed tests of hypothesis J&TCo F (AR 2
Y @%{ BB one tailed test 2% F43
G5 TrlRHCe ARy (@RS |

State the assumptions related to disturbance
term in CLR model. Also state the problems
associated with violation of each assumption.

3+2=5

CLR T @07 A ©iCe Seqiaefe] @1¢ |
S fe #ifers @1 2 AT T 2

1)  What do you mean by confidence

interval of a population parameter?

Population #NIINGAT confidence
interval TETCe F AR 2

i1) 10 life insurance policies in a sample of
200 taken out of population of 50,000,
were found to be insured for less than
Rs. 5000/-. How many policies can be

reasonably expected to be insured for
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less than Rs. 5000/- in the whole lot at
95 percent confidence interval?
2+3=5

50000 &= 31 ¢ 200 6 T @0z W
ol ot 10 (e Giman #ifshE e
/I 5000 T 1 | Foeser #f1hE cFea
A S 5000 HIFF ZE O 95%
confidence interval e 4|

For a two variable regression model of
x and y, find bxy, if S_: Sy = 5:4 and
4x—10y=0 is the line of regression of y
on x. Where, S_= standard deviation of

x and Sy = standard deviation of'y.

6 BT faceie seetst b e s
@eR W S @ S = 5:4 @K y-437 To
x-q3 frae A5 3¢T 21 4x—10y=0 |
@A S, = x-49 7 fQpife @ S = y-

a3 703 F[pyfs |

When does the regression line Y on X
coincide with that of X on Y? 3+2=5

I ORER Y-93 ol X9 favamia ASi=el
X-97 o7 Y-97 R ANSACR S
AHoffo® 2T 2



3. Answer any one question:

10x1=10

@-(FIE @F6 &K Tea miS ¢

a)

b)
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What do you mean by least squares method?
Derive the estimator of regression
coefficients for a two variables model by this
method. 2+8=10

Least squares #@fs JCe 1 (@R ? @3 owfs
SR Pl 4ib beRIRRe R SIeEs @
@ s e 1 IR

1)  Write the properties of ‘F’ distribution.
‘F’ distribution @3 (@@rafer @14

11)  Scores of male students are: 81, 84, 89,
79, 82, 90
Scores of female students are: 85, 89,
92, 94, 81, 78,89, 86
Assume that scores of both male and
female students follow N(u,,5,) and
N(u,,0,) distributions respectively.
Test the claim of equality of variances
of scores of male and female students

at 5 per cent level of significance.
5+5=10
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Rlamd A w79 : 81, 84, 89, 79, 82, 90

Rlgitvs A1 999 : 85, 89, 92, 94, 81,
78,89, 86

1 AF TG ¢ B TOEA AN TII T
TCRBRG=H Srpe w7 @@ N(w,,0,)
93 N(W,,0,) 29 ¢ gawms 2l T9E=a
(oM F— @2 WAL Tore] AGE w0

5% level of significance-4 |

Explain why the disturbance term is

included in an econometric model.

Econometric (S & Fo SEYE F41
R IR AN

Write the properties of OLS estimators.
5+5=10

OLS estimator-93 (A@yafer @1 |




